Quy hoach tuyén tinh

BAI TAP CHUONG 2

Giai cac bai toan quy hoach tuyén tinh sau:
> 2.1.
f(z) = 29 — x3 + 225 — min
( 1
:1:1+Z:U2—x3—|—2x5:7
1
{ —2xo + 4x3 + 14 = 12

H —4%2 +3$3+8335 + xg = 10
lz; >0 (j=1,..,6)

> 2.2.

f(x) = 2x1 + bxy + 423 + ©4 — x5 — min

(2, — 625 — 204 — 925 = 32

:2 + + L ‘|‘3

1 1 xrs3 21‘4 2&75
3Ty + x5 > 36

lz; >0 (j=1,..,5)
> 2.3.

f(x) = —2x1 + 622 + 423 — 224 + 35 — max
I{l’l + 229 + 43 = 52

'4:1:2—|—2$3+:1:4=60
{3$2+$5:36

lz; >0 (j=1,..5)
> 2.4.

f(x) =21 — 229 — £3 — min
I{x1+x2—2:133 =<2

by — g+ a3 < 1
To+2x3<5H
1201 — 22 < 2

lz; >0 (j=1,2,3)
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> 2.5.

f(z) = —16x1 + Tx3 + 923 — min

(2 L]
{' 371 T g2 T T g

Sxr1 +dxe =7
txj ZO (]:17273)

> 2.6.
f(X) =5x1 — x5 — min
$1+2$3—3$4—2

(
{$2+2$4—1
t$3>0 vVi=1,..,4

> 2.7.
f(X) =22+ x3 — max
.{xl—x2+x3=1
1:132—2$3+334:2
tl‘jZO; Vi=1,..,4
> 2.8.
f(X) =21+ 7Tzy — min
|{—22E1—|—$2—|-4563—LE4:5
—5r1 + 5r3 — by + x5 = 12
Lz =0 Vi=1,..,5
> 2.9.
f(X) =21 — 429 — min
.razl—a:2+3x4+3:v5—3
{31’2%—1’3—21’4—7%‘5:1
L:CjZO; Vi=1,..,5
> 2.10.
f(X) =x1 — 322 — max
(o) + 29 + 25 — 25 =2

{ 31+ 223+ x4 — x5 =3
€2 >0; Vj=1,..,5
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> 2.11.
f(X) =x1 + 223 + 225 — min
I{$2+2$4—2$5:1
I563—$C4—|—$C5:1
{$1—2I5:3
1
\z; >0; Vj=1,..,5
> 2.12.
f(X)=3x1 — x4 — max
I{xl + x9 + 5x3 = 20
i 5
{xg +a:4—:v5:§
|61‘3+I’6:28
lz; >0; Vj=1,.,6
> 2.13.
f(x) = 3z1 + 229 — max
!2%1 + 4x9 + x3 = 100
I$1+$4:40
{332-!-375:20
\z; >0; Vj=1,..,5
> 2.14.
f(x) =21 — x9 — min
I{$1+2$2—|—$3:6
I—$1+2$2+$4:4
{331—332 + x5 =1
1
\z; >0; Vj=1,.,5
> 2.15.

f(x) = z1 + 3x2 + 223 — max

(214 x5+ 25 =1

4%2 +35€3 + x4 = 29
{ —51172 —41’3 +£175 =13

tl'j > O; Vj = 1,..,5
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> 2.16.

> 2.17.

> 2.18.

> 2.19.

> 2.20.

> 2.21.

f(z) = 2 + x3 — max

(

|I‘1—I‘2+I‘3:1
11’2—23334-334:2
Lz = 0; Vi=1,..,4

f(z) =21 + Txe — min
|{—2$1+$2+45€3 — x4 =095

—9r1 + 5r3 — dxy + 15 = 12
Lz =0 Vi=1,.,5

f(x)x; — 49 — min
.{a:1 —xo + 314 + 3w5 = 3

{3$2—|—$3—2.€B4—7$5:1
€7 >0; Vj=1,..,5

f(z) = 21 — 3z2 — max

|{ $2+$3—$5—2
{ 1-|—2.’173+334—£C5_3
L% = 0; Vj=1,..,5

f(z) = x1 + 223 + x5 — min
I{$2+23€4—2$5:1
I$3—JZ4+LE5:1
{$1—2$5:3

i

L’L’j ZO, VJ:L,5
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> 2.22.
f(z) = 3z; — x4 — max
I{x1+x2—|—5x3:20
i 5
{x2+x4—x5:§
|6$3—|—$6:28
lz; >0; Vj=1,.,6
> 2.23.
f(z) = 3z1 + 225 — max
(221 4 43 + x5 = 100
I$1+$4:40
{$2+$5:20
1
\z; >0; Vj=1,..,5
> 2.24.
f(x) = z1 — x2 — min
(214 2x5+ 25 =06
I—331—|—2.I‘2—|—$4:4
11171—1‘2 —|—.’]35:1
1
LiL'j ZO, Vj:17,5
> 2.25.

f(x) = 21 + 322 + 223 — max

I{l’1—|—2$2+$3:1
I

4:62 +3ZIZ3 + x4 = 29
{ —5332 —41’3 + x5 = 13

\z; >0; Vj=1,.,5
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